“MATHE "
- MATH . Order of operations

6x1s 6 w3~

Evaluate each the values given.
1) 2 +m;use m= 21, and p = 22
4 5 3
3) x+5y;usex=1—, and v—3l
T 6’ : 6
5) (x+2);use x=2=,and y= 3l
’ 5 ’ 2
o 1 A2
7) hj + j;useh =25, and j = 2;

| 1
9) 4yx;use x=2—,and y=2—
) 4; > . 3

11) b+£;usea=3l,andl)=2l
a 2 3

13) ¢(p - 6); usep=6§, andq=3%

2
15) y+x—y,usex=2—,and y=2—
) ’ 4 ’ 5

17) x+x+z;usex=1,andz=3

| w

19) v+x+x;usex=3l,andv=3i
’ 3 ’ 5

2 | |

21) (n+m)*; use m=2€, and n = 15

3
23 —x;usex=2—,and y=3—
) ¥ —x;usex -andy=3-

y? 1 1
25) —;use x=2—,and y=3—
X 2 4

27) 2 - i; usep=4l, andq=3l
p 6 4

29) h* + j;use h= 3%, and j = 3%

31) b(4—a);usea= l%, andb=3%
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2) n’+ m;use m= 22, and n = 2%

4) P_P+q;1lsep=l%,andq=3%

1

6) x3+y; use x=3g, and y=1—

z 2 1
8) z— —jusey=2—,andz=1—
) A% ’ 3 2

2 |
10) m+m+n;usem= 35, and n = 22

12) (h—j)+n; useh=2%, and j = 1%

14) p(p +m); use m = 3%, and p=4

16) x— l;usex=3—, and_v:2l
X 4 2

3 2
18) j— (h - h); use = 22, and j = 23

20) (h+ k)z; use = 2%, and k= 3%

22) b+(a—b);usea=2%,andb=l%

24) _v:z; use y = 2%, andz=3

2 1
26) q* —m;usem= 2? and g = 22

28) Syx;use x = 21, and y = 3l
6 6

30) 3(p+g);use p= 1%, and ¢ = 1%

32) .V(,V - X); use x = l%, and y= 2%
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33) yx2; usex::’ag,andy=21 34) XxX=-x+Yy; usex::’al,andy=11
3 2 4 5
5
35) 4p—-m; usem:3g,and p:61 36) _y; us;exzzﬂ,andyzzﬂ
3 2 X 5 5
37) gp—¢; usep::%l,andq=3Z 38) y+x2; useleg,andy=11
4 3 4 3
39) r—g; useqzll, andr:31 40) (x+x)+y; usex=3§, and y:3i
r 4 5 4 6
41) j+h+h; useh=2%,andj=1% 42) 6(n +m); usem=3%,andn:1%
43) y* -z usey:3£, andz:1§ 44) (a—b)+b; usea:2§, andb:21
5 5 6 4
45) n+6-m usem=3%, andnzlg 46) 5(p +m); usemzlg, and pzlg
1 2 2
47) y-(z-2;usey=17, andz=3= a8) (Y] usex=13, andy=1=
2 S X 3 3
. 1 a\’ 3
49) p+q+p,usep=3§,andq=4 50) |— ;usea:es,anolczsg
c
51) 2(y+ x); use x = 12, and y = 1§ 52) xyz; usex=31, andy= 1§
2 6 2 6
53) 1+y+X; usex:1§,andy:13 54) j(h-j); useh::«*i,anolj:31
4 5 3 5
55) n+m?; usem=3£,andn:1ﬂ 56) E+m; usem:3l,and p=3Z
5 5 p 4 3
57) (nm)?; usem= 2! adn=3t 58) (y-x)% usex= 13, and y= 3t
4 4 5 2
59) X—l; usexzzﬂ,andy=31 60) a+a+b; usea:ZE,andb=31
X 5 2 6 5
] 2 . 1 2 5
61) 6 x—;useh=2—,and j =2— 62) x—-(y—-y);usex=3—,andy=1—
) 6% ooand j =27 ) x=(y-y) ady=1,
2
y 1 1
n 3 3 X 2 3
65) mxﬂ; usem:3l,n:3l,and p=31 66) m+q2; usemzzl,andq=2§
p 2 4 2 2 5
67) X+z-X; useleé, andz=3§ 68) X2 -z usex=3%, andzzlg
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69) y-(x-x); usex:?%, and y=2%

71) g+ (q+ p); usep=1%,andq:1%

n
73) nx—; usem=2§, andn:2Z
m 5 5

2
75) X—; usex=2§, and y:1l
y 6 3

77) ﬂ+q; usepzl%,andq:4
p

79) 1-(j - K); usej:1%,andk:1%

81) b+(2—a); useazli, andb=2%

83) n+(n—m); usem=1, andnzlé

85) 3+(z—x); use x = 3, andz=3§

87) p(5+0q); use p= 22, and q = 1%

89) b -a?; usea=1%, andb=3%

91) gp + p; use |O=3%,andq=3§

93) (b - a)z; usea= 1%, andb= 2%

95) ﬁ; usex:3£, and y=3l
y 5 6

97) p+3—r;usep=3§,andr=1§

99) pxm; usem= 1, and p:3%
p

3 7
101) (p+q) = pg;use p=7—,andq=4—
) (p+0)+ pg p 1 q 9

z
103) x+— +Xx; usex:1§, andz:2§
z 9 5

70) c—(4—b); useb =3, andc:?%

72) p+(m+ p); usemzzg, and p:l%

2
74) X ;USGX:ZE,andy:3£
y 6 4

76) iz; usex=21, and y:3l
y 5 4

78) zy%; useyzsé, andz:3§

80) b®-c; useb:lg, andc=3%

82) 3- £; usem=1g, and p:21
m 3 2

84) E; usep=31,andq=2§
p 5 4

86) j+2-h; useh=1%,andj=2%

2
88) X usex=31 andz=1+
Z 2 2

4m
0) —; usem=3§, andn= 11
n 6 2

92) h+d:useh=31 andj =11
j 2 6
94) j - h?% useh=1§,ano|j=31
4 4
96) m? - p; usem=3§,and p:Z%

98) a-b*: useazzg, andb=1%

100) (2+x) + y; usex:?%, and y:3%

102) y=(x=(y-y)) usex:?%, and y=4%

2
104) b?> —a+5; usea=2, andb=5§

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

-3-



105) 8h+j*; useh=2z, and j e
8 7
107) yly - Y ;usex=4z, and y:5l
X 8 4

109) m-m+n-m; usemzzé, andn=4§

111) mp+(8+m); usem=4§, and p::’%

q 5 1
113) 4+ p—- —;usep=5—,andg=3—
) p 3 P 6 q 3

1
115) yxz+x; usex:4§, andy=2—
X 6 6

117) 7j + (k- 3); use j :42, and k=5£

119) x+(y—x) +X; usex=2%, and y:3%

121) 3(p?+q): use p= 1%, and q = 5%

123) y+z—(5—x); usex=3%, y=8, andz:21

124) 9—(r +L); useq:]_E, andr:4£
q 4 4

126) nx (n+n)~m; usemzléandn:4%

128) 8-2+m-n; usem:4i, andn=3l
10 4

130) 5+(p—m+5); usem:Z%, and p=5§

132) (z+y)(1+y);usey= 4%, andz=1

7 7
134) (q-(4-p)) = q =2l andg=1-
) (a-(4-p)+qusep g ada=1-

1

136) 1+ y2+x; usex:2£, and y:37

106) j = (h+6-h); useh=4g,andj=3%

110) p+p-p+gq; usep=5§,andq=5%

3

112) xz(y - z); use x = 2%, y= 55, andz=2—

114) x+(7x+ y); usex=4%, and y:l%

1
116) a(c + —); usea= 3§, andc= 3l
a 5 8

118) 7x(y+ y); use x = 2%, andy= l%

120) g - p—B; usepzlé,andq=4ﬂ
p 7 7

122) xy+9 -y, usexzzé, and y:5§

7b 1 1
125) — +a;usea=7—,andb =5~
b 2 4

127) j +6(h-h); useh:4%, and j =1%

129) m+n-n-4; usemz?i, andn:3§
10 4

133) 1- (x—x)+ Y, usex=5§, and y:Z%

135) 1(h +h);useh=2,and j = 2%
J

137) b+ c? useb= 3§, and c =4
4 10
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108) (3—-(x-12)+5; =5— andz=4—
) ( (x z)) use X 0 and z c

5
6



138) 7><5+(m—n); usem:3§, andnzlé

140) 6(8 +n) +m; usem=3%, andnzlé

142) X3 -y, usex=4%, and y:3%

144) zxiz; usey:5§, andz:2§
5 5 4

146) ala+c+ a); usea=3é, and ¢ = 10

148) j[h- 1) usen=5% and j =4t
J 5 8

) 3 5

150) m+ p+(m+m;usemzlz, and p=1g

152) xx (8+y)+y; usex:2§, and y:3%

154) g+ p+q-p; usep=4%,andq=3%

156) n+(p—(m—m)); usem:Z%,nzll, and p:11

10

1
157) 10 +y+X usex:41, and y=3§
y 3 9

159) a+(b-b)+3; usea=2- andb=1>
10 4

161) p- n+ 4% usen=2§,and p:4%

7 1
163) m-— -plhusem=4—,and p=2—
) m-p(p- p) 1o A4 P=2-5

165) (y+x)(y - x); usex = 43, and y = 42

166) c+ta—a+hb; usea:9,b=3g, andc=3—

167) X+ Y2 +X; usex=5§, and y=4g

169 p-q+qg+p; Usep=2%,andq=1%

139) (mmz) + p;usem= 4% and p= 1%

141) yx(x+4)+x; usex:]_%, and y:4§

143) x—|x- Y ; uselel, and y=51
y 9 2

2
145) 10X ; usex=11, and y =41
y 7 7

147) q—(p—p)+2;usep:5§,andq=2§
1 1
149) z-z+yz usey:5§, andz:5§
151) n’m’; usem= 2§, andn= 2i
4 10

1 1
153) 9z + y2; usey= 15, andz= 25

2

X 1 1
155) — +y;usex=3—, and y=3—
)1 y 2 y 2

6

158) (a+ b) + (a— 1); usea:51, andb = 1i
2 10

160) 2 (h- j) useh:5%, and | :3%

162) zxi; usex=21, and z=5i
6z 9 10

164) X + 9% use x =55, and y=2i
y 9 10

168) x3(y+ x); usex=2,andy= 4%

170) j2+h?% useh=4§, and j —33
8 10
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171) (a+ b)+(a—b); usea=3§, andbzzé

173) p+p°-m usem:4%, and p:4§

175) (n-(p-m)) +

176) x-y+6-X; usex=4g, and yzzé
3 4
178) p+q+10-q; use p=5€,andq=5§

180) h(s—l) useh=53 and j =11
J 5 2

5

182) (a+a-6)=+b; usea=4%, andb:SE

184) m><q+q2; usem::%, andq=5%

186) 2 - Y —x;uselel,andy:3Z
X 2 8

188) x|5- 1 ;usex=51, and y:21
y 9 3

190) ¥ —(1-1): usex= 23, and y = 5=
X 2 3

192) (2+y) use x = 52 andy= 3%

194) yx—(y+ x); usex=3g, andy=7

196) y - ( ) X; use X = 41 andy= 8g
8’ 3
198) xy + 6% use X = 6 ,andy = 4i
7 10

200) x—x+7y; usex:l%, andy=8

7 11
usem-= 49 and p=3—

201) 6+m-(m- p)% 5

y? 8
202) 5+— —-x;usex=1l,andy=2—
y 11

P Usem=31,n=31, and p=5—
6 7 8

5 1
172) 10ly+ y+ x); use x=1—, and 1—
) 10(y + y+X); o ady=1-

174) p(m+4+3); usem:Z%, and p:5§

1

1
177) x><z+(5+8); usex:4%, andz:SE

179) y + y(x + 3); usexzzé, and y=3g

2 7
181) (m+ n)2+9; usem=1§, andn=1§

183) y+yx+y; usex:4%, and y=5§

) useq= 4% andr—41

185) 8+ (q- -

o 9 2
187) h+(j+j)>useh=1— and j =4=
) h+(j+j) 1o =47

13, and j = 41
10

189) j—h-h+h;useh= p

191) n-(m-12). usemzlg, andn:Z%

193) a+b—(b—b); usea=4i, andb=5E
10 7

7 1
195) p-(p-(p-9)); use p=2.,and =27

2

197) (5 1): useh= 9andj-2g
]

2. useh=4g, and | e

199) h? - j
) j )
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203) m- 12+ (n(15 - 6)); usem= 6%, andn= 5;

204) X x5 + x usex:41, and y:7g
y 8 7

7 11 9
205 52 - +7z));usex=4—, y=2—, andz=2—
) (y +2)) usex 8 Y 15 ‘ 10

13 3
206) 14h—-jlj—j);useh=3—,and j =6—
) ii-1i) Ly di=6C

207) q-7- p=+(q- p); usep=6%,andq=10

208) b+a’ - (b-a); usea=33, andb= 6= 209) (h-12)%+j-h; useh=3—, and | -5t
7 2 13 15

12 5
210) y—-x-(y-— 3; uex=1— andy=2—
) y-x-(y-y) g ddy=2-

2 3
p”. 3 7
211) m- —;usem=1>,and p=7-— 212) n? [P : usen=2-" and p=4>
p S 11 n 12 4

usex =72 _35
213) (x+z)(3—(x—x)), usex—?ll,andz 312

214) x+(x=(y-x) +y); usex=3%, and y:S%

11 1
215) 6-r+(g—-qg)+~ 1 useq=4—,andr=1—
) (a-a) Q=477 0

9 3
216) (p-p)?+g+q use p=4—, andg=3—
) (p—p)*+q+q usep 1o da=35

217) (5+x+ y—y)+y; usex=6%, and y:G%

218) x+(z—(10—z—z)); usex:7§, andz:4l
4 10

219) c><(8+b+b)+b; useb=7%,andc=6i—g

220) (h-K?*+h-2; usehzsé, and k=3%

221) m—-m+m-p+m; usem=4i—§, and p=4g

11 1 7
222) mpx{p—-n)+ p;usem=5—,n=1—,and p=2—
) mpx(p-n)+p I o @dP=2
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2
223) % +y—; usex:3§, and y=31
y |y 7 4

1
225) 4y+y—- —; usex:4§, and y=61
X 9 8

227) X 12x+l ; usex=23, and y:10l
15 14 8

11
229) z- 10+ (x® - 15); usex =4, and z=2g

230) b*-(14- (b +a)); usea= 1> andb=6=
12 4

231) (y?-6-X) =+ y; usex=7%, and y =15

233) (mz)2 + (m - n); usem= 71—0, andn= 23
11 14

234) mp =+ (13 - (m-m)); usem=9, and p:4§

235) 6((x— y)2 + 1); use x = 75, andy= 63
9 14
y? 1 7 3
237) yx—+zuex=5—,y=7—,andz=1—
X 3 12 5

238) 112—(x— y)+4; usex=4§, andy=4

240) j +j +h*+12; useh=21,andj =13
4 4

242) b+ (9c-b+c); useb=2% andc= 22
12 11

244) m* = (n-(m-n)); usemzzg, andnzlg

245) (x+z+x)(10 - 2); use x = 2%, andz= 6%

246) (n(m + m) + 10) +13;usem= 11, andn=2—
13 12

26X
247) ——; useXx = 3§, andy= 3§
15y 6 5

249) %% - [x+ 2} usex=52, and y = 7>
X 4 8

m 4
248) p—-mx—-musem=2—,and p=5—
12 7

2 3
250) x—(—) +7, usex=1§,andy:31—O
y

y 1 3
224) y—-Ix—-y)—- —;usex=7—,andy=4—
) y-(x-y) y 4 y 14

226) 9—(p+4><ﬂ); use p=3£,andq=21—O
p 7 11
228) m><—p; use p=3§,andq=13
6 (¢ 6

232) q><5—m; usem:7£, andq=15
mq 11

236) y(y+x+1-x); usexzsl%, and y:6%

7 8
239) q-9-9)=0r;useg=4—,andr=7—
) q- (9-9) = ar; useq 0 0

7 3
241 2_ 14y usex=2—,and y= 3—
) (yx) y o ady=3-_

243) h?-h(j - j); useh:4%, andj=1—

5
7

11
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251) a +5—(q—q); usep=1l, andq:11 252) a—9+9; usea=51, andb=3£
p 12 2 b b 4 15
253) h+5 —E; useh=6i,j=5ﬂ,andk:3l
j k 10 5 11
254) zxﬁ; usex::%i,y:?ﬂ,andz::%i 255) 13 n—ﬂ -n; usem:SE,andn=21
5y 10 5 10 m 3 2
256) (m—(m—m))+(m+ IO); usem=5§, and p:Z%
2
257y (y+xd) + v: usex:5§, and y=1E 258) 3+ P e p=12, andq=13
9 14 p 5
259) y+ y(y—x+ y); usex:3£, and y=4£
15 14

260) (y—x)+(x+ y—x); usex=41£5, andy=7

261) j+(h+2-11)+13; useh=11§,andj =2%

5 2
X y;us;t—:‘x=41, and y:5i
6 13

262)

263) b><a+(a—c2); usea=6i, b=3§, andc=2ﬂ
14 9 9

264) (y+y-4)(y+x); usex:zl—14, and y = 61

15
) 7 _ 5 7
265) y(y+3 —x); use x =4, and y=7§ 266) (15(6+ p))v pn; usen:ZE, and p:GE
7 1
267) b-a- (a-a)+a usea=1—,andb=3—
12 10
1 2 2
268) gp+q°+ p;use p=5=,andq=2-— 269) x|~ ;usex:GE, and y:43
3 11 y 11 13
9 1
270) p—(3+m)+m+8; usem=1—,and p=5—
13 9
y 2 7 ) 7 4
271) y+y+yx—usex=6—andy=2— 272) x—-\y-y) -y,usex=5-—,andy=1—
) Yy ryx L ady=2 ) x=(y-y)’ -y 1o A4y =1
273) h* = (h(j +h)):; useh=3%, and :6é 272) P _(5- p); usem=3%, and p=2
p

14
275) 8-ax (a-b)+ 10; usea=4— andb=32
10 15
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3
276) x—y+ |  usex=6=, and y:5§ 277) a+100% - & usea=3>, andb =3+

m
278) — + p+m: usem:ZE, and p=6i 279) x+(y+x) +11% Usexzzl’ andy=71
mp 15 13 7 6

12m?
mol;us;emzzg,andq=5i

280)
10

281) (11p+ p+q)+15; usep=21£3,andq:6%

282) x—(x+ y)(x—x); usex=1§, and yZS% 283) (a+ a+9—b)+b; usea:7%, andeZ%

3
284) b +8+a;usea:9§,andb=6§
b 4 7

5 3
285) (2h— i) = (10-6): useh=3-2 and j = 2>
) (2h-j)+(10-6); use L adi=2;

286) p+(2— p)2+m; usem:Z%, and p:l%

11 6
287) 11+ (x\7-\y- ; =6— =2—
B 11+ (47~ (y- ) wsex=612 anty=2°

1 1 m 1
288) % +6(12+x); usex=4—,andy=2— 289) n+n—- —+m; usem=5£, andn=6—
y 3 14 n 11 8

290) E(x+z); use x = YE, y:3£, andz:3E
5 15 3 6

1
291) y(y+ x)— —O; uselel, and y=3E
X 2 6

(g —r1)- —al a=1al .4
292) (12(p+q)) + (g r),usep—49,q 142,andr 715

203) j><(j2+j)+h;useh=3§,andj=5

(p=(02-m) _g2 _o L
294) p (p (p m)),usem 53,andp 215

295) 10-j+12+h+h; useh=4ﬁ,andj=5§

296) y+ 5+ (X2)3; use x = 1%’ and y= 4%

297) x+(x+2+z—x); usex:15%, andz:3§
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3

2
4
298) (ﬂ) +15-m; usem= 12, andnzlg 299) (y+y)?+ x5 usex =7, andy=1¢
n

8 8
300) (8p+m)+8 - p;usem=7—,and p=3—
) (8p+m) p 3 @dP=3]
15
301) P(17+r2): use p= 6=, and r =8> 302) y(6+2) - = usey= 6=, and z=41-
19 5 16 y 15 18
o 1 . 6
303) 15+h+h+j—-j;useh=6-—,and | =3—
13 13

19
304) y+13-x- —: use x =19, and yzlog 305) zx(x-2) + 8z usex=9;—§, and 2= 6
y

18
306) ca—cxg; usea=7§, andc:81
c 20
2 9 5
307) (m+10) —(n—n); usem=1—andn=2—
10 6
308) 13x h=+(n?-j); useh:Si—;, and :1og

309) Xx—-yxy=+ X usex=5§, and y=10Z

3 310) xz—(x+y)+8;usex=5§,andy:18

311) 3(18+15) + L use p=2-"-, and = 8
p 17
_ 1 2
312) p+m=(11+m+ p); usem=27, and p=6
313) yxx X usex=87, and y= 22 314) W2 (h+j+ ) useh=3~ and j =1+
X 9 13 6 4
i\? X 3 1
315 € [ usej= 1022, and k= 1022 316) = — (y+y)+x usex=8-—,and y=2=
k \18 19 13 X 10 2
6 7 3
317) z- (x+y)*+ 6. usex=7—, y=5—, andz=9=
) z- (x+v) V5% -
5
318) a®+ (b +ba); usea=8%, andb= 10— 319) nm-(n- 2) ysem=4 andn=2->
2 10 n 2 18

2 5
320) \7y—-\x—X))+8; =1—,andy=4—
) (7y-(c-3) 8 uex=12, and y =4

2
321) 13y + X ;usex=61, and y:7ﬁ
y 2 11

9 7
322 2)=(1+q); =10—,andg=7—
) (p+0?) +(1+q); use p o da=7
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13 13
323) x+y-vyix—-x);usex=7—,and y=8—
) x+y-y(x-x 5 dy=8

2 14 5
324) q+p+17- —;usep=10—,and =9
) a+p 15 U P=10"-, andq =9

325) a2—2+a; usea=3£, andb=1>
b 14 6
11 7 4
326) px(g-3)+g-myusem=2—, p=5-—,andq=10—
) px(q-3)+q 4 P=57pada=10_
5 9 7
327) (z-\y-2z)—-x)+ L usex=3—,y=9—, andz=7—
) (- (y-2-¥ Sy=o L
328) (z—(y—y))+zz; usey=1g, andz=8i
7 14
329) h*+(j - (10-5)); useh =102, anoljza§
18 5
. 2 3 1 1
330) nxnv(nm ); usem=5—andn=9— 331) z(8—(x—x))—z; usex=11,andz=6—
14 2 16
10
332) r(13+13) - P use p=62, and r =42 333) 152y x> use y = 4— and z= 3—
p 3 7 20 12 13
5 1
334) (p—(8— p))+(m+m); usem=8€, and p:GE
335)3p+£;us;ep:8,andq:2E
p p 15
2 . 7 2
336) xX“+y+x—-9;usex=9—,and y=10—
18 19
5 8
337) (y+(y+x)?) +x usex=6—,and y=9—
) (y+(y+%?) g AdY=9
13 1 3
338) z-\y-9)+x-zusex=4—,y=10—,and z=4—
) z-(y-9) V7103 .
339 i—%; usea=9,andb=7l 340) 8m+ m- pm; usem=8£,and pzzl
17 b 10 18 18
1 1
341) (y+x+x—x)+y; usex=5§, and y:4§
p 2 4 3 . h . 2 . 1
342) — +(q—-q)5;usep=1-—,andq=2-— 343) jx—+j—-1,useh=8—,and j =9—
)q(qq) p=1 andq=2_ ) ix * o di=9g
2
344) y+y——y; usex=51,andy=7i 345) p(q2+|0)—|0; usep=41,andq=5ﬂ
X 4 10 3 5
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6

346) y? x (15+ X) + v, use)(:gg, andy=1°

347) (x+ X+ y)+xy; usex:Y%, and y:10%

1

348) b? - (b~ (a-a)); usea=7-1, andb =10~
19 2

349) y11+5+§ ;usex=8£,andy:8l 350) h+h+19—j2; useh:4§,andj:1i
X 15 6 4 20
13 1 4 1
351) mx{(mp®) +m usem=8=, and p=3= 352) y+y?+x% usex=7—,and y=10=
) (mp?) 0 p=3g ) yt+y T y=107
2 6
353) y+14+2z+8; usey:5,andz:55
354) m+3-(m+ p-m); usem=4£,and p:6i
11 16
. 7 1
355) nxmv(12—n+m); usem=9§, andn=4§
356) y-(5-y) - (x-y); use x= 63, and y:4ﬂ
19 5
357) (p-(9-4)+) =g use p=72,andq =6
15 19
. 9 4
358) 12h+9j +h;useh=6—,and j =6—
16 7
359) x%+(x-(y-y)); usex:7§, and y=2i
8 16
2 8
360) a+(2+b-(b-a));usea=3—,andb=3—
11 19
361) (12+n—(17—m))+m; usem:GE,andn=91
12 15
14 9 5 1
362) m+p+5+8%5usem=6-—,and p=2—  363) y+y(8-x+x);usex=2-—,andy=7-
) m+p o A4 P22 ) y+y( ) 1 dY=T3

1

364) kd +X+X; usex:QZ, andy=3
20 8 6

1 1
366) y+x+13y+y; usex=91—2, and y=8§

useh:51, and | =9i
8 14

1

)

You may use this math worksheet as long as

368) h? - (17 -

3

7
365 2)+(3-q); =6—, andq=1
) (pp?) + (3-0); use p g anda=1_o

m 1 1
367) 7-m- —-musem=3—,and p=8—
p 4 6

3

Y ; usex:SE, and y=10—
20 14

g
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370) (15+a-(17-7)) = b; usea:Q% andb=6%

10
371) pm+— + p; usem:81—3, and p:4i 372) z+E +z-z usex=91, andz:2i
18 16 12 X 5 20

373) 6(m+ n)+n+n; usem:7%, andn:13%

374) 14 (b-(b-a)); usea= 2% andb= 1212
a 5 13

375) (y-y+6)+x+4; usex:S%, and y:101—69

. . _o 7 2 _g>
376) rq.(q(r+p)),usep—720,q 63,andr 611

377) 11+ (b(11+a-¢)); usea= 10, b=5< andc= 6=
16 3 13

378) a+(a+ a) +b+a; usea=8£, andb:3£
17 11

. . 3 .5
379) j - (10+3-(j - h): useh=4—, and | = 9—
) j-(10+3-(j-h); use oo i =9

380) nm- (m+ m)+n; usem=10§, andn=9%

381) p+m- 6+ (m+m); usem:4g, and pzll%

382) x—x+ yxi; useleg, and y=6E
X 13 9

2 7 13
383 +4dm-{m+q);usem=7—, p=4—,andg=4—
) p (m+q) g PAg ada=4 2

9 12 13
384 x—{p—-q)usep=10—,and g=5—
) p ID(|o q); use p 3 @da=5

385) (3(20 - (y + x))) + X usex= 5%, andy= 3%

16
386) y>— X +-—; usex:7§, and y =12 387) a- E(17— b); usea:3z, and b= 10—
4 5 b 9 13

16 5
388) |4 +13; =7-——,andy=8—
) (alycr ) = 13, usex =722, ey =35>

389) (j +hj —h) = h: useh = 10> and j = 2%
13 12
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1
390) yz+—6 ; usex=3§, y=1ol, andz=10E
10x 6 12 7

391) blb+a-a) - a; usea=4%, andb=6-"

9
1 1
392) p+m=(m+13+18); usem=1§,and p=10¢
2 11
393) 187 - (y+x+10); usex=9—,and y=6-—
) (y ) g @dy=6 2
11 14 r 1 1 1
394) mn - 14%+12; usem=6-—, andn=2— 395) P _ 2 Usep=9=, andr=10=
17 17 p r 6 2

1 1
396 -y)+y)usex=2—and y=6—
) x(x + (y y) y) use X 0 y 11

397) x+x+(x—-(x-y)); usex =16, and y:5136

398) 6><m+(p+m)2; usem=6%, and p:S%

399) (4+j)+(j-h) +h; usehzlo%, and j -1t

18
400) 15 x xy + y2; usex:5£, and y=71 401) b(a2+a+b—a); usea=3E
17 8 28
1 1
402) 2pm+ (m+m+ p); usem=12§, and p:51—6
403) 4nm+D +27; usem=4§, andn:6£
n 4 30

404) qx8+(q-q+m+15); usem=21, and q = 25

405) y - (x— y+ (19(18 + y))); use x = 5%, andy= 92—18

2 1 19
406) (x—14)ly+— —2];usex=14—, and y=7—
) ( )(y 2 ) S ady=T

407) yz—(13—z)3—z; usey:Q%, andzzlol—l7

408) 23-10+h*+ j —j;useh:14%,andj :32

409) (x3)? - y=+(24-y); usex= 3%, andy= 1%

,andb=81
4
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410)E+(30—a)+b+b;usea=8£,andbzllz
a 13 9
1 16 1
411) g-pxr=\p—-(r-r));usep=9—,g=12—,andr=2—
) q-pxr+(p=(r-r));usep 5 47122 >

412) 11 - x+ (y(x?)?); use x = 111—73, and y = 5%

13 20
413) 11+ p+p—-p+m+p,usem=3—,and p=13—
) p+p-p p B p 51

414) y+y+x+y—-Xx-—6; usex:l%, and y:26£

13
415) h(j +h) - [n- L} useh=422 and j =92
j 16 11
11 3 11
416 Z+yx+ X))+ y uex=3—,y=6—, andz=6—
) (dz+yx+x)+y oo Y= 6C 28
r 7 1 7
47 rip+—|{11-p);use p=10—,g=15—, andr =9—
) (p q)( p); use p oy 4715 .

7 8
418) y=(y-(y- 20: =7 ady=72
) y+(y-(y—x) +x+29; usex oy A4 Y =70

16 13
419) 8y’x(y - x): usex=4—, and y = 13—
) 8y*X(y - %) e ady =132

420) h®+(h+7) +hj;useh= 153 and j = 1>
25 23

421) 12 +13(b - b) + 16a; usea= 922 andb=1—
27 26

422) (9+n)+n+m-m usem=31" andn=8-1
18 11

11 6
423 V)= (y=(y=y)): =10==, and y = 14—
) (y+x-y)=(y-(y-y)); usex o Y=

. ). —192 i3
224) (h-(h-h))=(9(6 +j)); useh=12,and j =2__

17 13
425) X+y- vy’ +21— usex=12—, andy=1—
) y-y y P y=1,

426) p+19+ 20+ (20 - (m-m)); usem=3§, and p=10%

427) ((15 - y)(x + X)) = (x + y); use x = 14% and y = 11%
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22 n
428) x+ yx+y— =; usex=23, and y=6£ 429) m? x —— x —; usem:6§, andn=6
y 25 m 3 29

m

430) 22-9+qg+13+20- p; use p=91—30,andq=30%

2 2
431) = +y—; usex=5i, and y:2Z
X 12y 10 9

1
432) 15x+(30—z+ x+z); use x = 14—, andz:9i
12 28

433) b? +(a-(b-b)) +a usea=9->, and b = 20—
12 29

2
134) Plp+2 +23) usep=112 andq=13>
13\" g 7 5

435) p+(27+m-(m-m)+m);usem=1, and lezl%

m
436) 19+ p-p+—:; usem:4£, and p=1E
4m 17 19

11 13
437) (y- +(x=(x-x); usex=10>",and y= 12>
) (y X+ y) (X (X X)) use X 14 Yy 17

438) 10j = (h—h+h) + j: useh=1— and | = 4—
14 11

2 3
439 ~1) < 6q =6-= andq=5-—
) (p(p+p-1))=6q;usep o7 ada=5_

11 3
440) x> - xIx-x) -y usex=2—,andy=1—
) (x-x) -y g Ady=17

2q 17 S
441) gx—I\p+ p);usep=1—,andgq=13—
) q ; (p+p);usep g 94713

442) x+ y+X + X +6; usex=211, and y:29i
6 26 29

1 11
443 x\ly-y/+y+10-xusex=1—,and y=13—
) yx(y-y)=y oy A4y =132

11 11
444 = VX =11— andy=12—
) (Y(y+y)) = y?x usex g Y =1275

445) (a(c— b) - (b— b)) +b;usea= 103, b= 6£, andc= 15i
26 12 14

446) p- 9+m’—(m-m); usemzlzé, and p:9%

1
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447) y><§+x— 5; usex=8§, y=121, andz=14i
y z 4 9 17

448) (n+m) = (15 - (n+m?)); usemzzé, andn:72—14

449) 4p+q-q-(q-p); u%p=4§,andq=1zg

3 15
450) h- (j-j-(h-h)+huseh=7—- andj=4—
) h=(i=j-(h-h)=huseh=7_,and =4

q 1 5
451) q+p- — +26q; use p=10-,and q=8-—
) a+p- - +26q uep=10_,andq=8- -

452) 22 x (a+ a)2 + (a+ b); usea=4l—o, and b= 9ﬁ
11 19

453) mxm= (4p +10 - 10); usemz?i—g, and p:l4§

3. (n(27 = 1) _12 _ 513
454) (m+n) .(n(27 n)) usem 115,andn 1524

5 1
455) y2 = (x+y+y) +xusex=4— and y=6—
) ¥P = (x+y+y) g A4y =6

2
456) x—y+—y +7, usex=9i, and y=5i
y 20 16

457) (pq+ap) = g% use p= 11%, and q = 13%

458) ((y+y)P+y+2=+y; usey:Z%, andz=21—58

z 17 1
459) — +26 - (x+ 2)3; usex=15—andz= 13—9
X 25 26

460) 23+n°-n+m’; usem:6i, andn:7i
20 27

461) 10°+ j(k+6-j); use]j :45, and k:S%

462) y—(3i +5); usex=41£3, and y:132—32
X X

2 7
463) y2+x2 +Xx-3; usex:5—5, andy=6—
27 10

464) (b(a - (13)3)) + 3 usea= 122—85, andb=21
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465) (n+8)+(m-m+n) -m usemzzi,andnzlg
29 12
466) m—m+ px£; usem= 8, and p:5£
p m 13
467) xy—8+z +3; useleol, and y=14£
X 3 14
468) y x L (x+22 - 21): usex=11§, and y:21—3
X 5 17

469) (m+20—m—m)+(n+n); usem=7%, andn:15i

15
470) (20x+ X+ 15x)+ Y usex:8§, and y=4£
7 19
471) EE+x -y, Uselei,y:91—3,andz:93
X\y 10 22 26

1 15
472) h—(29h(j - j)+j);useh=10—,and j = 7—
) (29n(j - j) + j); use 126\”1 %

473) a+b- b+ (a+26)-a usea= 16, andbzlog

5 3
474) 8 x 20yx+ y*: usex=11—, and y = 9—
) yX=y o y 0

475) £+p+q—(q—p); use p=42, and =10
p 7 20

476) b- 2 —(b-b): usea=3—>, andb = 17
9a 14 29

477) (y-x) = (y-(y-y) +v, usex:4i—:;, and y=11%

478) 5 +n;usem=15£,n=81,and p:15g
9IMmp 19 3 3
y 4 1
479) x= = - y-y) =X =12— andy=10—
)xy(y y) + X; use X 1o 34 Y=10C
480) (q+p—(q+p))+p+22;usep:4§,andq:15§
5 12
481 -\y—=x)) + 4y - x); =11—,and y=15—
) (y=(y=>) = (4y-x); usex=11_7, and y =152
482) q- (5(2+m)+ p)+ g usem=7—, p=4— and q= 12>
14 29 4
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483) (17-a)+(a+b+1+a); usea=1-L andb=10--
24 18

2
484) X2 ;usex:14i, and y=7£
xy \y 26 15

7 1
485) i - (h-(15-h)) = j> useh=11—,and j =5—
) i - (h-(15-h) = j? use g @i =57

10 1
486) 16+ x— (y—vy) + x*; usex=2—, and y= 10—
) (y-y) g Y =10-

17 17
487 + X - X—(X-Yy); =12—,and y=8-—
) x(x x) X (x y) use x 0 and y 18

488) b+ (a-(20-a+a-a)); usea=11-" andb=10->
28 17

23 9
489) 21 -m+ p-m-m)—-p;usem=8—, and p=12—
) p—(m-m)-p g A4 P=12-C

490) p+p+n+1l-p+5; usenzSi—g,and p:8§

491) x(y+(x+ y)+x+x); usex=2§, and y:Q%

492) 28+(8—(y— y+ y—x)); useleoé, and yzlzi

493) h*-j +j(h+09); useh:4%, and | =1o%

494) 2+a+a-b(b-b); usea:7£, andb=112—69

r
495) 9q + 24{r - — ;useq=7i,andr=14i
3 25 13

296) (p(p+m) + (m? - 3); usem:13%, and p:3%

497) (p+ |O+mp+m)+29; usengi—;,and p:5%

4 7 1
498) x(20y - (z- x)?); =2—,y=7—,andz=14=
)x(y(z x))usex 15y 12anz c

14 10 2 2
499) — x -X)+ vy uex=15—,y=15—, andz=6—
) — (&7-x)+y V7155 5

a 2 1
500) cb—b?- —;usea=18,b=8—,andc=11—
16 21 17
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Evaluate each using the values given.

3
1) 2 +m; usem=21, andp:22 21—
4 5 3 15

| 2

3) x+5y;usex=1—,and y=3— 17—
’ 6 ’ 6 3

2 1 2
5) vlx+2); x=2— and y=3— 15—
)_1(x )usex 5_an 3 > s

| 2 1
7) hj+j,useh=2— and j=2— 9—
) hj+j > J=23 93

| | 1
9) 4yx;use x=2—, and y=2— 23—
) 4yx; use x 5 and y 3 3

11) b+£;usea=3i, andb=2l 22
a 2 3 21

13) q(p—6); usep=6§, andq:?,% 7_%

2 .3
15) y+x—y; x=2—and y=2— 2—
) y+x—y;usex 1 and ) s 23

17) x+x+z;usex=1,andz=3— 5

| w
| w

19) y+x+x; usex=3%, andy=3i 10%

21) (n+m)2;use m=2%, and n = 1% 13i

33
23) y3 —x;usex=2—,and y= 3l 312—
5 4 320

2
1 1 .9
25) L; usex=2— and y=3— 4—

X 2 4 40

27) 2—i;usep=4l,andq=3l 1ﬂ
)% 6 4

50
29) h* + j;use h= 31, and j = 3g ISH
2 3 12

31) b(4—a);usea=ll,andb=3l 8i
3 6 9

5
2) n’+ m;use m= 22, and n = 2i 25i
6 1080

3 1 1
4) p—p+q: =1= andg=3— 3—
) p—ptqiusep 5 adg =357

1 179
6 x3+v;usex=3—,andv=l— 37—
) ’ 6 : 2 324

z 15
8) z— —;usey:2g,a11d:= li —
h% 3 2 16

10) m + m + n; use m=32, andn=2l 9i
3 4 12

5 1 19
12) (h—j)+h; h=2— and j=1— —
) (h—j)+h;useh 6an] 7 3

14) p(p +m); use m=3%, and p=4 29%

16) x—X;usex=3—,andy:2l 3L
X 4 2 12

3 2 2
18) j—(h—=h); h=2— and j=2— 2—
) j (7 z),usez 4,an j 3 23

20) (h+k)2;useh=2§, and k=34 35—
4 6 144

22) b+(a—b);usea=21,a11db=1l ll
5 3 13

2 3 3
24) yz*; =2— andz=3 24—
) yz;usey i 1

2 1 .53
26) g% — m; use n=2— andg=2— 2—
) ¢ —musem=22, andg=27 2o5

28) Syx;use x = 21, and y = 3l 34£
6 6 36

30) 3(p+q); use p = 1%, and g = l% 10

5 1 2
32 - Xx); x=l—andy=2— |—
) _v(y x) use x S and ) > 13
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11
33) yx2; usex:3§, and y:21 33—
3 2 18

35) 4p—-m; usem:3g, and p:61 221
3 2 3

1 2 1
37 -qusep=3—,andq=3— 8—
) dp—q p 4 q 3 8,

1 1 259
39)r—g;useq:1—,andr:3— 2——
r 4 5 320
41) j+h+h; usehzzl,andjzl1 5g
5 2 10
1 16
43) y* -z usey=3-, andz=1> 8o
5 5 25
45) n+6-m; usemz?;l,andnzlg 3g
2 5 10
1 2 .1
47) y—-\z-2z;usey=1—,andz=3—- 1—
) y=(z-2usey=17 s 15

49) p+q+p; USEp=3%,andq=4 102

1 5 2
B1) 2ly+ x);usex=1—,and y=1— 6—
) 2(y+x) yandy=1c 6

2 3
53) 1+y+x; useleg, andy=1— 4—
4 5 20

55) n+m?; usem:?ﬁ, adn=12 162
5 5 25

57) (nm)?; usem= 2%, andn=3> 53~

59) Y -1 usexzzﬂ, and y:31
X 5 2

61) 6x useh=22 and j =2+ 5°
h 5 376

n 1
65) mx —; usem:3l,n:3l,and p:31 3—
p 2 4 2 4

67) X+z-X; us;ex:11,andz:3é 3§
3 6 6

1 1 1
34) x-x+yuex=3—andy=1— 1-
) y 4 y 5 5

5
36) _y; usex:2ﬂ, and y:2ﬂ 5
X 5 5

64
38) y+x2; useleg,andyzl1 —
4 3 147
3 1 7
40) (XxX+x)+-vyusex=3— andy=3— 2—
) (x+x) =y pady=32 2

42) 6(n+ m); usem:?%, andn= 1% 30

44) (a-b)+b; usea=2§, andb:gi ’
6 4 27

5 4 1
46) 5\p+m);usem=1—, and p=1— 18—
) 5(p+m) g A p=1z 18

2
48) Y ;us;ex:11,andy:1l 1
X 3 3

2
a 7
50) |— ;usea:6,andc:3§ 2—
C 5 9

5 55
=1> 11>
=%

1
52) xyz; use x=3—, and
2 72

1 1 32
54) i(h-j) useh=3= and j =3= =
) i(h-1j) g adi=3;

6
56) — +m; usem:3l, and
p 4 3 44

3 1 61
58) (y-x)%>usex=1>,andy=3= 3——
) (y-x) o ady=32 3

1
60) a+a+b; usea:ZE, andb:31 8—3
6 5 15

2 5 2
62) x-(y—vy);usex=3—,andy=1— 3—
) x—(y-y) ady=1. 3;

64) x—z;usex=31,andy:3l 2§
X 2 3 42

1
_,3 413

1
66) m+ 2;usem:Z—,and
) d 2 a 5 50

68) X2 -z usex:31, andz:1g 9ﬂ
3 3 9
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2 3 .3
69) vy-Ix—x;usex=3—, andy=2— 2—
) y-(x-x) g ady=2 2

3 1 16
71) q=lg+plusep=1— andg=1— —
) g+ (q+ p);usep pada=1s

n 14
73) nx—; usem:2§, andn:2Z 2—
m 5 5 65

2
1
75) X—; usex:ZE,andyzll 6—
y 6 3 48

77) ﬂ+q; usepzll,andq:4 6g
p 2 3

79) 1-(j - K); usej:l%,andk:l%

Nlw

81) b+(2—a); useazll, andb:21 32
4 2 3

1
83) n+(n-m); usem=1, andnzl% 35

1
85) 3+(z—x); use x =3, andz:?% 75

3 1 3
87 5+4q)usep=2—,andg=1— 17—
) p(5+0)usep=27, andq=17 17
89) b-a% usea=1-, andb=3~ 2>
6 2 736
1 3 5
91) gp+ p;use p=3=,andq=3~ 16—
) ap+ piuse p=37, andq=37 16
4
93) (b-a)? usea=1+ andb=2+ 2
2 6 9
95) iy usex=3£,andy:31 32
y 5 6 5
97) p+3—f;usep=32,andr=12 41
5 3 15

99) pxm; usem=1, and p:3% 1
Y

3 7 1087
101 + = usep= 7—, andg=4—
) (p q) - P 10 a 9 3139

z 7
103) x+— +x; usex:1§, andz:2§ 4—
z 9 9

70) c—(4—b); useb =3, andczi% 2;

4 1 25
72) p+m+p),usem=2—,and p=1— —
) p+(m+p) sadp=1l, o
2
1156
74) X ;usex:2§,andy:3£7
y 6 4 1521
176
76) iz; usex:21,andy:3l —
y 5 4 845
2 4 116
78) zy*;usey=3=,andz=3— 43—
) & y 5 5 125
17
80) b®-c; us;ebzlﬁ,andc:31 17
6 3 216
82) 3—£; usemzlg, and p:21 lé
m 3 2 2
5 1
84) —q;usep:SE,andq:Z§ 4—9
p 5 4 64
86) j+2—h;useh:11,andj:2l 31
4 2 4
2
88) X—; usex:\?.l,andzzlE 81
z 2 2 6
90) 4_m; usem:BE, andn:11 10g
n 6 2 9
92) h+d:useh=31 andj=11 42
J 2 6 2
3
94) j—hz;useh=1§,ano|j=3l —
4 4 16
96) m? - p; usem:SE,and p:2i 10319
5 6 150
31
98) a-b® usea:2§, andb:11 —
5 3 135
1 3 7
100) (2+x)+y,usex=3—,andy=3— 1—
) (2+X) =y Sandy=37 1+
2 1 17
102) y+(x-(y-y)),usex=3—,andy=4— 1—
) y=(x=(y-v) Sandy=4c 1o
2 22

104) b?>-a+5;usea=2,andb=5= 30—
9 81
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y
105) 8h+ j*; usehzzz,andjzl1 15209 106) j = (h+6-h); useh=4§,andj=31 —
8 7 512 9 2 12
17
107) yy—z ;usex:4z, and y:5i 21@ 108) (3—(x—z))+5; usex:SE, andz:4§ —
X 8 4 208 10 5 50
7 3 1 3 1 13
109 m—-m+n—-musem=2—,andn=4— 1— 110 +p-p+qusep=5—,andg=5— 10—
) g s 15 ) P+ pP-p+q =57 q=57 10,
3 1 71 2 5 3 5
111) mp+{8+m);usem=4—,and p=3— 1— 112) x\y—-2z;usex=2—, y=5— andz=2— 20—
) mp+(8+m) g adp=3 1 ) x(y-2) V=5, .
q 5 1 5 1 1 10
113) 4+ p—- —;usep=5—,andg=3— 9— 114) x+=|7x+vy) usex=4— andy=1— —
) P 8 P 6 q 3 12 ) ( y) 6 y 4 73
1
115) yxz+x; usex:4§,andy:21 5LO 116) alc+— ;usea:C’>§,andc:C’u1 121
X 6 6 87 a 5 8 4
4 7 79 2 1 4
117) 7j +\k=-3);usej=4—, andk=5— 11— 118) 7xily+ Vy);usex=2—, and y=1— 44—
)J()J5 8115)(yy) Soandy=12 44
1 1 77 p 5 4 6
119) x+(y—-x) +xusex=2—,andy=3— 4— 1200 g-p— —;usep=1— andq=4— 1—
) x+(y-x) 43/7100)0“0'0|o70|77
3 2 3 1 3 1
121) 3(p?+q);usep=1>,andq=5= 26— 122) xy+9-y usex=2=,and y=5> 16—
)(pq)p4q316 ) Xy+9-y g dy=52 160
1 3 19
123) y+z-(5-x);usex=3—,y=8, andz=2— 8—
) y+z-(5-x) 3V 1 %0
7b
124) 9—[r+L) useq=12, andr =4t 22 125) ©° +a usea=7% andb=5> 14°
q 4 4 28 b 2 4 2
126) n><(n+n)+m; usemzll,andn:4Z 38£127) j+6(h—h); useh:41,andj:1l l}
5 9 243 2 2 2
128) 8-2+m-—n; us;em:4i,andn:3E 71—3 129) m+n-n-4; usem:7i,andn:3.§ 3i
10 4 20 10 4 10
1 4 70
130) 5+-(p-m+5);usem=2—,and p=5— —
) 5+(p ) yadp=5_
3 7 17
131 -(Xx=-X))+2;usex=1—,andy=5— 2—
) (y- (=) 2 andy=s5 2
2
132) (z+ y)(1+y); usey:4%, andz=1 32?19 133) 1- (x—x)+y; usex:5§, and yZZ% 1
7 7 23 1 1 7
134 -4- ~qusep=2—,andg=1— — 135) —lh+h);useh=2,and j =2— 1—
) (a-(4-p)+q p=2g,andq=1_- )J( ) =2, 1]
2 5625
136) 1+ y? +X; usex:ZZ, and y:31 1325 137) b® =+ c%; useb:3§, andc=a— 202
8 7 392 4 10 7396
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2
138) 7 x5+ (m-n); usem=3% andn=1% 16°
7 2 29

1 17 5

35 6 8

181
142) 3 -y, usex:41,andy:3l 68 12L 143) x - x—z;uselel,andy:S1 1
6 2 216 y 9 2

yz 3 3 _ 47 x\? 1 1 640
144) zx-—,usey=5_,andz=2— 8 145) 10[~| ;usex=1=,and y=4=
5 5 4 100 ) y S AAY=22 o

12 5

146) ala+c+ a); usea:Sé, and ¢ = 10 52 - 147) q-(p-p) +2; usep:5§, andq=2> 4=

6

: ' : 4
148) | h—Jf ;useh:Si andj:41 19— 149) z-z+yz usey:51, andz:51 28i
j 5 8 5 8 16

23 1 561
150) m+ p+ (m+ m); usems= 1§, and p= 1E 2—151) n’m?; usem:2§, andn=2— 33——
4 6 84 4 10 1600

3 1 16 2 1 1 3
152) xx|18+y)+y usex=2—,andy=3— 9— 153) 9z+vy-;usey=1—, andz=2— 24—
) xx(8+y)+y o ady=3. 9 ) 92+ Y usey =17 > 24,

1 3.1 NG 1 1 3
154) g+ p+gq-pusep=4-,andq=3> 7> 155 — +y,usex=3=,andy=3= 15°
) d+p+qg-p p=47 a=3, 75 )1 y 5 y=3, 15,

3 7 1 16
156) n+(p-{im- X =2—,n=1— and p=1—- 1—
) n+(p-(m-m)); usem p Tl adpsly 1o

8 50 1

1
157) 10 +y+X usex:41, andy=3— 10— 158) (a+b)+(a—1); usea:51, andb=1— 1—
y 3 9 63 2

10

159) a+(b-b)+3; useazzl,andbzl§ 2L 160) j%-(h-j); useh:51,andj:31 725
10 4 " 10 2 8 64

7 19
161) p- n= 4% usen=2§,and p:4l 4— 162) zxi; usexzzl,andz:Si —
6 4 96 6z 9 10 54

163) m- p(p - p); usem=4-" and p:2i 2l 164) = + 92 use x= 5. and y:2i 830
10 10 10 y 9 10 27

4 3 1049
165 - X); =4— andy=4— 2——
) (y+ x)(y x) use X 9 and y 2 2108

166) c+ta—a+hb; us;ea:9,b:3§,andc:3§ 7i
5 8 40

7 7 187 3 2 2
167) x+ 2+x;usex:5—,and =4— 34— 168) x(y+ Xx);usex=2,andy=4— 50—
) X+y gandy=ac 34 ) x*(y+x) y=42 50

1 1 1 5 3 17424
169) p-q+q+ pusep=2-,andq=1= 4=  170) j2~h%useh=4=,and j=3— —
) praratpiusep=2 andg=ly 4, ) | g 7" 17 10 34205
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1
139) (mmz) + p;usem= 4§, and p= 1Z 64£
7 9 686

140) 6(8+n)+m; usem:S%,andnzlg 58—  141) y><(x+4)+x; uselei,andy:4— ZOE

56

-
15



4 1 5 5 1 1
171) (a+b)+(a—-b);usea=3—,andb=2- 4— 172) 10ly+y+x);usex=1—,andy=1— 40—
) (a+b)+(a-h) - s 4o, 172 10ly+y+x g andy=1-o 407
1 2 19 1 3 1
173) p+p°-musem=4=,and p=4= 22—  174) pm+4+3);usem=2>,and p=5> 51-
) p+p and p=4z 22 ) ol ) g @0 p=5_ 51
1 1 1 199
175) (n—=(p—-m))+ p;usem=3—,n=3=,and p=5—
) (n-(p-m)+p - Sandp=5o
176) x—-y+6-X; usex:4§,andy:2i 3ﬂ 177) x><z+(5+8) use x = 43 andz= 51 13
6 5 5 4’ 5 10
3 4 3 1 4 16
178) p+q+10-q,use p=5—,andq=5— 15— 179) y+ y(x+3);usex=2—,andy=3— 21—
) p+q G usep=5,,andq=5_ 15" 179) y+y(x+3 ady=3. 21
180) (8- 1 |: useh= 5 andj—ll 362 181) (m+n)?+9; usem=12, andn=1~ 122%%
] 5 2 5 3 8 5184
3 53 1 2 8
182) (a+ta—-6)+b;usea=4—,andb=5— — 183) y+yx+y,usex=4—,andy=5— 35—
) ( )+ n .- ) y+yx+y 5 ady=52 35
1 1 20 9 1 16
184) mxq+qg5usem=3=,andq=5- — 185) 8+ useq=4-—,andr=4—- 16—
) 4= 3 g 2 33 ) ( ) 4= 10’ 5 49
11
186) 2 - Y ) usex= 11 andy = 3l M 187) h+(j +j)% useh= 1i anolj—4g 89~
X 2 8 12 10’ 3 90
1
188) x[5- — ;usex:SZ,andy—Z1 26@ 189) j—h-h+h;useh= 1i and j —41 21
y 9 3 63 10’ 4 20
190) X—(l—l); us;exzzl,andy:SE 2i 191) n—(m—lz); usem:1§,andn 21 11—6
X 2 3 15 9 7 63
192) (2+y) use X = 55 and y = 33 3t 193) a+b-(b-b); usea= 43 andb=52 105
9 4 18 10’ 7 70
3
194) yx—(y+x); useXZSg,andy:7 153 195) p—(p—(p—q)); usepZZ%,andq:Z% P
196) y- (x-x) + x; usex = 2t and y = g2 g2 197) (5 1): useh= 9ano|1-2E 142
8’ 3 3 j 9 23
989 . .
198) xy + 6% use x = 62 ,and y = 23 199) hz—jz;useh:4§,andjz 1 6407
7 10 1260 7 6 1764
1
200) x—x+7y; usex:1€,andy:8 56
201) 6+m—(m—p) usem-= 47 and p= 3E 10i
9' 12 1296

2
y x;usex=1andy= 2ﬁ 6E
1 11

202) 5+
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203) m- 12+ (n(15 - 6)); usem= 61, andn= 5§ 6§
9 4 207

204) X x ¥+ x: usex:4£,andy:7g g7
y 8 7 8704

2000
205) 52+ (X(y+2); usex=4-L, y=21L andz=22 200
8 15 10 2197

206) 14h-j(j - j); useh=3i—i, and | =6§ 55

207) q-7- p+(q-p); usep:6%,andq:10 1;

208) b+a’ - (b-a); usea=33, andb=6= 13— 209) (h-12)%+j-h; useh=33,andj _pil g 734
7 2 49 13 15 2535

5 79

12
210) y—x-(y—- 3; uex=1— andy=2—
)y (y y) 13 y 14 182

2
p° 3 7 3 3 1961359
210) m- - i uem=1g,ad p=7 212) nz—(ﬁ) ;usenZZé, and p=4°> 1901359
n

4 4289904

6 5 39
- - . =7— =3— 2—
213) (x + z)(3 (x X)) usex=7 0 andz=3 1 3

214) x+(x=(y-x) +y); usex:S%, and y:S% 1

11 1 10
215) 6-r+(g—-g)+~ 1 useq=4—,andr=1— 4—
) (a-a) Q=477 TERET

9 3 3
216) (p-p)?+q+quse p=4—, andg=3— 6=
) (p—p)*+q+q usep 1o da=37; 6,

1 1 10
217) \5+x+y—-y)-vyusex=6—andy=6— 1—
) ( y-y) sy S andy=6- 1

218) x+(z—(10—z—z)); usex:7%, andz:41— 1—

14
219) cx(8+b+b)+b; useb=72, and =62 20120
7 13 169

220) (h-K?+h-2; useh=5% and k=31t 2. 997
9 12 1296

14
221) m-m+m- p+m usem=4-> and p=4> 40
15 5 15

11 1 7 241
222) mpx{p—-n)+ p,usem=5—,n=1— and p=2— 8—
) mp (p ) P 15 10 P 13 975
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2
1 5
223) X +y—; usex:3§, and y—31 4E 224) y-(x-y)- . ;use X = 71 andy=4 i —
y |y 7 4 364 y’ 4’ 14 28
1 37 4 10 . 328
225) 4y+y—- —; usex:4§, and y—6— 30— 226) 9- p+4><ﬂ ;use p=3—, andq—2—O 2——
X 9 8 88 D 7 11 ~1925
12 7
227) 12x+ L] use x= 2=, and y = 10+ 60£228) 9% P usep=32 andq=13 2
15 14’ 8 3920 q 6 216
1 110905
229) - 10+ (x* = 15): use x= 4= and z= 2> 2
12 7 179459

230) b*-(14- (b +a)); usea= 1> andb= 61 3232
12 48

231) (y2—6—x)+y; usex=71,andy:15 14i 232) q><5—m; usem:7£,andq:15 5
5 25 mq 11

233) (m?)° + (m-n); usem=7-2, andn=2-> 180202
1 14 ~ 12518055

3 _3
234) mp+113-im-m));usem=9,and p=4— 3——
) mp+ (13- (m-m)) p=42 3.,
4 3 3
235) 6\Ix — +1); use x=7—, and 6— 134136 +Xx+1-x);usex=5—, and 6— 48—
) 6((x—y)? +1); g Y= 2646)y(y ); g dY=6, 48
2
237) yx Y +7z usex = 5 y=7- andz=1S g3t
X 12’ 5 46080
3 5 7 8 4647
238) 11° - (x—-y)+ 4 usex=4>,andy=4 124— 239) q- (9-q)~qr; useq=4—,andr=7— 4——
) (x-y) g ady o ) g- (9-0) = ar; useq 0 1 47900
1 3 _59 7 3 149
240) j+j+h*+12;useh=2=,and j =1> 3— 241 2_14y usex=2—,and y=3— 20——
) 1+ 4 J 4 64 ) (%) y 15 Y=°70 “ 2500
11 2 77 11 177
242) b+(9c-b+c);useb=2==,andc=2-—-— —— 243) h®-h(j - j); useh:4—,andj_13 22—~
12 11 499 14 11 196
12
248) m? = (n - (m-n)); usem=2>, andn=1- 42
7 8 259
245) (x+z+x)(10-2); usexzzﬂ, andz:61 44£
13 3 117
17
246) (n(m+ m)+10)+13; usemzll, and n —2i 1—3
13 12 ~ 507
26 137 4 29
247)—X use x = 35 andy—3§ 1— 248) p- mxm—m usem=2—,and p= 5§ 2—
15y 6’ 5 162 12 7’ 7 49
3 3 11 3
249) XZ—(X'*'X) use x=5— andy 7T— 26— 250) X — g +7;usex= 13’ and y= 1_0 8105774
X 4 8 368 y 5 11 397535
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251) ﬂ+5—(q—q); usep:1l,andq:11 5E 252) a—9+9; usea:SE,andb=3£ 5}
p 12 2 b b 4 15 4

19
k 13 .
253) h+— - —; useh:6i, ] :SE, andk:3l 3 1939
] k 10 5 11 12760

zX 2 n 2
254) zx —; usex::%i,y:?ﬂ,andz::%3 lﬂZES) 13(n— —|-n; usem:SE,andn=21 23—9
5y 10 5 10 1000 m 3 2 32

2 11 85
256 -m-m)) =+ , =5= and p=2—
) (m-(m-m))+(m+ p); usem 3 and p 5 126

17 ?
257) (y+ %) + yiusex=5> andy=12> 106> 958) 3 + 2 use p=12, and g =13 20>
9 14~ 19683 p 5 60

2 5 991
259) y+ -X+Vy);uex=3—,andy=4— 28——
)y y(y y) 15 y 14 1470

sl

2
260) (y - x) = —x): 4 andy=7
) (y=x) +(x+y-x); usex e ady=7 o

261) j +(h+2-11)+13; useh=11§,andj=2E 3
6 15 390

5x2 1 1 10
y; usex=4—,andy=5— 105—
6 13 13

262)

2
263) b><a+(a—c2); usea=6i,b:3§, andc=2ﬂ 35§
14 9 9 757

1 11 554
264 _4 ; =22 andy=6— 8322~
) (y+y-4)(y+x); usex g dy=6 8

7 31 5 7 100
265 +32—x;usex:4, andy=7— 99— 266) (156 + +pnusen=2—,and p=6— 10—
) Wy ) y=Tg 99 ) (15(6+ p)) + p g adp=6_ 100 -

267) b-a- (a-a)+a; usea=1-— andb=3-— 1°
12 10

1 2 265 2
268) gp + q2 +p;use p= 55, andq= ZE 21— 269) gx(ﬁ) - use X = 6%, and y = 43 148 184207
y

363 13 480491

1
270) p—(3+m)+m+8; usem=1£, and p:5l 10—
13 9 9

y 2 7 2411: 2 7 4 23
271) y+y+yx—=usex=6—andy=2-— 6 72) Xx—-\y-y) ' -y,usex=5-——,andy=1—- 4—
) yryry X 11 Y 12 9792 ) ="~y 10 Y 9 90

3 . 1 . 7 26 pm 1 1
= : =3= =6— 1— - - - n) =3= = —
273) h* =+ (h(j +h)); useh 32, and j 612 o1 274) . (5- p); usem 39, and p=2 5

14 _1579
275) 8-ax(a—-b)+ 10; usea=4—, andb=322 7227
10 15 3000
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3
276) x—y+ |2  usex =6+, and y:5§ 1> 277) a+10b* - &; usea=3§, andb=3= 105>
y 2 3 6 8 4 8

m
278) — +p+m; usemZZE, and p= 6i 9@279) X+ (y+ x) +11% use x = 21, and y:71 121ﬂ
mp 15 13 15990 7 6 391
12m? 9
280) 9 em=2> andq=5- 125->
7 10 245

2 4 172
281) \(11p+p+q)+=15usep=2—,andg=6— 2—
) (11p+p+q) p=2 s andq=6_ 2

5 1 5 1 1 _ 1
282) x-— - X); =1— =5= 1- 2 -b) =+ b; =7= =2- 8-
82) x - (x+ y)(x - x); use x 6,andy 53 ) 83) (a+a+9-b)+b;usea 6,andb > °3

b 3
284) [—] +8+gq; usea:9§, andb:6§ 18§
b 4 7 4

5 3 1
285) (2h— i) +(10-6): useh=3-> and j = 2> 1—
) (2h-j)+(10-6); use o adi=2, 1o

1 11 25
286) p+(2-p)l+musem=2=,and p=1=— 4—
) p+(2-p) padp=17 4

6 13

11
287) 11+ (X7 -(y-V))): usex=6_ =2
87) 11+ (X7~ (y -yl usex=6 " andy=2_2

1 1 8 m 1 .13
288) = +6(12+ x); usex = 4=, and y=2-—— 100—289) n+n- = +m usem=5-> andn= 6= 17—
y 3 14 87 n 11 8 = 308

290) E(><+Z); usex:7E, y:3£, andz:3§ 301—9
5 15 3 6 270

10 7
291) y(y+ x) - — uselel, and y:3E 13—
X 2 6 9

: =r), = Z = 1 = i ﬁ
292) (12(p+q))v(q r),usep—49,q 142,andr 715 31217

293) jx(j2+])+h: useh=3§,andj=5 41;

_ _ 2 _ . = Z = l ﬁ
294) p-(p-(p*-m)); usem Sy adpE2s s

. . A
205) 10— +12+h+h useh=4-% and j =55 25
14 5 <35

1 1 36001
296) y+ 5+ (X2)3; usex=1—, and y= 4= 117
6 4 46656

2
297) x+(x+2+z—x); usex:15l,andz:3§ 2g
8 7 304
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2
n 7 2, 2. 4 3 2609
— -m: = =1— 299 +y) +x5usex=7—,andy=1— 60——
298) (n) +15-m usem=12, and n 18 4 ) (y+y) 13 y=1g 60,
8 8 99
300) Bp+m)+8 - p;usem=7—,and p=3— ——
) ( P ) P 13 P 9 104
15
301) P(17+17): use p=6=, andr =8> 32249300 (642 - 2 usey= 6%, and z= 4L 69 20tL
19 5 16 24320 y 15 18 27270
303) 15+h+h+j - j; useh:6i, and | :3£ 27£
13 13 13
19 487
304) y+13-x- —; usex=19, and y:10g 2§ 305) zx (x—2) + 8z usex:91—3, andz= ir 48t
y 3 96 20 18 1440
306) ca—cxg; usea:7§, andc:81 57§
c 20 60
307) (m+10)? - (n-n); usem= 12 andn=22 141°%
10 6 100
. . 7177
308) 13><h+(h2—1);useh:8£,andj:10£ 1 °
13 9 103139
309) x—yxy=+ X usex:5§, and y=10Z 1%10) xz—(x+ y)+8; usex:SE, andy=18 18 !
5 8 25920 6 36
311) 3(18+15) + L use p=2-"—, andq=8 102
p 17 41
1 2 223
312) p+m=+({11+m+ p);usem=2—,and p=6— 6——
) p+m=( p) ,;adp=6 6
313) yxx X usex=8L, and y=2-2 5320 314y h?=(h+j+j) useh=3%,and j =15 12
X 9 13 1521 6 4 204
-\ 2
1904 X . 3 1 33
315 K —[1] " use 21022, andk=1022 20 316) Z ~ (y+y)+ x usex=8"—,ady=2-
k 18 19 13 29241 X 10 2 83
317) z- (x+ y)3+6; usex:7£, y:51, andz:9§ 16@
13 12 5 8760960
1445 5
318) a®+ (b +ba); usea=8L andb=10— 44 319) nm-(n- 2) sem=4L andn=2-> 10247
2 10 2071 n 2 18 1476
2 5 11
320) (7y—-(x—-x))+8 usex=1-——,andy=4— 4—
) (7y=(x~x) pady=4_ 4
2
321) 13y + |2 s usex =63, and y= 7> 10120020
y 2 11 317900
9 7 _5993
322) (p+q?)+(1+q)usep=10—,andq=7— 7——
) (p+o?) = (1+a)usep=10_ " andq=77 7
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13
323) x+y—-vix-x;usex=7—,andy=8— 16—
) x+y-y(x-x 5 dy=8

2 14
324) q+ p+17- —usep=10—,andq=9— 37—
) g+ p 15 p 17 q 9

325) a® - %+a; usea:31—i, andb=1> 13="—

326) px(q-3)+q-m; usem=2£, p=5—,andq=10— 1——

327) (z—(y—z)—x)+1; usex:3§, y:9£, andz=7— 1-—

328) (z—(y— y))+22; useyzlg, andz=8— ——

329) h? = (j - (10-5)); useh =10
330) nxn+ (nm?)

332) r(13+13) -

13 77
144
5 188
765
5 123
6 196
7 4 13
14 16’ 17 224
7 2
10 18 45
3 14
14 115
1—3, and j = 6§ 71—2213
18 5 2592
1862 7
yusem= 53, and n:91 331) z(8— (x— x)) -z usex=11,and z= 6i 42—
14 2 5329 16 16

334) (p—(8— p))+(m+ m); usem:8§, and p=6-— ——

336) X*+y+x-9;usex=
2 5

337) (y+(y+x) )+x; usex:GE, andy=9— 42

338) z-(y-9)

339) & - 2. usea=9 andb=7-—

341) (y+ X+ X—X)+ Y, usex:5§, andy=4- 2—

342) E +(q-0q)% usep=

2 2 3 10 4
;usep=6—,andr=4— 110— 333) 15zy x —;usey= 43, andz= 3i 122—
p 3 7 7 20 12 13 13
1 210
17 901
14 _ 3
yuep=8,andgq=2-— 3—
p 15 10
91, andy= 10i 98%
18 19 6156
8 34049
11 150766
+X-2 usex:4E, yzlol, andz:4§ Bé
14 3 4 42
7 38061 7 235
340) 8m+ m- pm; usem:8£, and p=2— 54—
10 100793 18 18 324
1 5
2 27
4 361 . h . 2 . 1 14
1—,andqzzi— 343) jx—+j-1Luseh=8—,and j =9— 27—
15 19 615 4 11 3 33
1 3 79 1 4 49
;usex=5-,andy=7-—— 10— 345) plg°+ p)- p;use p=4=,andq=5— 160——
y 4 y 10 525 ) p(q p) P P 3 g 5 225
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6 6 15
346) y*x(15+ x) + y:usex=8—,andy=1— 44—
) Yy x(15+x) +y Sandy=1_ 44"

347) (x+x+ y)+xy; usex:Y%, andy=10— ——

348) b? - (b (a-a)); usea=7-+, andb=10= 99°
19 2 4

X 1 5 . . 159
349) y|11+5+— ;usex:8£,andy:8— 138— 350) h+h+19—12; useh:4§,andj:1i 26——
X 15 6 6 4 20 400

13 1 1 4 1 2376154
351) mx (mpz) +musem=8—,and p=3= 87-352) y+y’+ X% use x=7—, and y=10— 10—
19 6 12 15 3 3885087

6
353) y*+14+z+8 usey=5, andz=5-> 520
13 13

354) m+3-(m+ p-m); usem:4£, and p:6i 1B
11 16 176

1
355) n><m+(12—n+m); usem=91,andn:41 2E
8 3 421

14 4 63
356) y—(5-1y) = (x—-y): 66— andy=4= 222
) y-(5-y)-(x-y); usex o Y4 2

2 5 608
357 -9-4 +q =7— andg=6— 1
) (p-(9-4)+q)+q use p o ada=6- 1

358) 12h+9j +h;useh = 63, ad | = 6ﬂ 144£
16 7 112

3 9 3
359) X2+ (x—(y-y))usex=7=,andy=2— 7>
) X (x (y y)) use X g and y 6 g

360) a+(2+b-(b-a)); usea=3-2 adb=3> >
11 19 57

361) (12+n-(17-m)+m usem= 6.2, andn=9— 1°%
12 15 415

362) m+ p+5+ 8% usemzaﬂ,and p:2i 78%'63) y+y(8-x+X); usexzzi,anolyﬂ1 66
19 16 304 12 3

Xy 7 1 301 5 7 3 3075
364) — +x+xuex=9—, andy=3— 21— 365 +{3—-q)usep=6—,andg=1— 175—
) 20 8 y 6 960 ) (pp ) ( q) P 8 d 20 4736

1 1 7 m 1 1 5
366) y+x+13y+y; usex:9—5,andy:8— 137-367) 7-m- —-myusem=3—,and p=8—- —
16 2 16 p 4 6 49

] 1 9 17 X 'y 13 3 1556169
64 20 14 4429600

368) h2—(17—T ;useh:5§, anc|j:9a 10— 369) y—+—;usex:52—0, and y=10— 21
J X
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370) (15+a-(17-7)) = b; usea=9>, andb=6-2 217
4 17 448

10 1
371) pm+— +p; usem:8—3, and p:4i 40@72) z+E +z-2 usex:91, andz:2i 2E
18 16 12 576 X 5 20 920

1
373) 6(m+ n)+n+n; usem:7%, andn:13% 1525

374) 14 ~(b-(b-a); usea=22, andb=1222 21
a 5 13 °5

1 6 4
375 -y+6)+x+4 usex=5— andy=10— 5—
) (y-y+6) g dY=10-0 5

17 2 5 1420
376) rg=\glr + p));usep=7—,q=6—,andr =6— ——
) rq+ (qr + p)); use p 509765 1 3147

39
377) 11+ (b(11+a~-c)); usea= 10" b=5% andc=62
16 3 13 289

1
378) a+(a+ a) +b+a; usea:8£, andb:3£ 12E
17 11 374

. . 3 5 79
379) i - (10+3-(j-h)): useh=4— and j =9 1-—
) j-(10+3-(j-h); use o @4i=9, 10

380) nm - (m+ m) +n;usem= 102, andn= 9£ 100@
5 19 4465

381) p+m- 6+ (m+m); usem=42, and p:1g 524L
9 10 360

1
382) x—x+ yxi; useleg, and y:6E 23i
X 13 9 1944

2 7 13 17
383 +4dm-{m+q);usem=7—, p=4—,andg=4— 21—
) p (m+q) g P4g ada=4ac 21

9 12 13 207
384 x—{p—-q)usep=10—,andg=5— 45—
) p ID(|o q); use p 3 @da=5T 450

1 1 9
385) (3(20-(y+ +X; =5—,andy=3—- 6—
) (820 -y + )+ x wsex=52 anay =3 6

16
386) V2 - x+ 2 usex=72 andy=12 140>  387) a- 2(17-b): usea=3~, andb= 10— 1%
4 5 5 b 9 13 " 1215

16 5 1336
388) |4 +13; =7-—,andy=8— 22-——
) ( (yx+ X)) Hex 17 nay 14 1547

. _ 1
389) (j+hj-h)=h; useh:loi, and j _p1 5319
13 12 1632
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16 2
390) ylz+—/; usex:BE, y= 101, andz= 10E 117@
10x 6 12 7 3220

391) blb+a-a) - a; usea=4— andb=6- 41--
10 9 810

392) p+m=(m+ 13+ 18); usem= 1=, and p=1o1 105
2 6 390

2 11 22
393) 187 - (y+x+10); usex=9—, and y=6-= 161
13 15 195

11 14 377 rp 1 1 117
304) mn- 142+ 12 usem=6--,andn=2— 2°'595) P _ 2 e p=9=, andr=10= 10—~
17 17 “867 ) p 1 6 2 a2

1 1 41
396 -y)+y)usex=2— andy=6— 4
) Xoxt (y =)+ y); use x 10 Y 11 100

9 78
397 +\xX=(x-vy)); =16,andy=5— 18—

) x+x+ (x=(x-y)); use x andy=5_- 18
14 35100

15 214369

398) 6><m+(p+m)2; usem:6%, and p=8

399) (4+j)+(j-h) +h; usehzloi, anolj:lsE 1238
6 18 456

7 1
400) 15 x xy + y2; use x = 5£, and y:71 118— 401) b(a2 +a+ b—a); usea:BE, and b:81 68—
17 8 323 28 4 16

1 1 101
402) 2pm+={m+m+ p);usem=12—, and p=5— 4—
) 2p ( p) 2 P 16 481

n 2
403) 4nm+— + 27, usem= 4§, andn= 6£ 152—3
n 4 30 30

404) qx 8+ (q-q+m+15); usem=21,and q =25 52

5 1 265763
405) y—(x— y=(19(18 + y))): =52 andy=9— 3-20°
) y-(x— y=+(19(18 + y))); use x o ady=9_2 35

406) (x - 14)(y+2—29 - 2); use X = 14%, andy= 719, 1357

26 1508

1 1 563
407) yz-(13-2°-z usey=9=,andz= 10— 60——
) ye= | ) y=3 17 ~ 9826

408) 23-10+h*+j - j; useh:143, and | =32 232 0
11 6 121

6 1 1273959
400) (x¥)?- y+(24-vy):usex=3—,andy=1= 157—
) (¢ - y=(24-y) 11 Y= 1332331
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410) b +(30-a)+b +b; usea=8-> andb=11- 1575
a 13 9 6201
1 16 1 .15
411) g-pxr+{p—-\r—-r)j;usep=9—-,9g=12—,andr=2— 10—
) a-pxr=+(p=(r-r)) p=95.0=12_ 25 055
412) 11- x= (y(x®)?): usex=11-— and y =5+ 1022/28L
13 7 7 10025696
13 20 79
413) 11+ p+p—-p+m+p,usem=3—,and p=13— 42—
) prp=P P 18 P=3%1 "6
414) y+y+x+y—-X-—6; usex—li and —261 72£
y+y y , 5 dy=26 723
415) h(j +h) - (- L} useh =422 and j =92 67201
i 16 11 ~ 2816
11 3 11 __14033
416 Z+YX+ X)) -y, uex=3—,y=6—,andz=6— 32—
) (dzt yx+x) =y 20" "5 28 43120
217) flp+ 11 p):use p=10-", q= 15~ andr =9 702>/7619
q 22 23 17 6049637
7 8 7839
418) y+ ly—-y—-Xx)) +x+29;usex=7—,andy=7— 37—
) y+(y-(y-x) oy Y70 8T
419) 8y*x(y - x); use x = 4E, and y = 13153 95, 4784789
25 21 5788125
420) h®+(h+7) +hj;useh= 153 and j = 115 15538697
25 23 47150
421) 12 +13(b - b) + 16a; usea= 922 andb=1— 169
27 26 = 27
422) (9+n)2+n+m-m usem:3£, andn=8-- 300>
18 11 121
11 6 3421
423 +Xx-y)=ly-(y-y);usex=10—, andy=14— ——
) (y+x-y)=(y-(y-v) o dy=U
. 2 . .3 9800
424) (h=(h-h))=(9(6+j);useh=12=-,andj =2~ ——
) (h=(h-h))+(9(6+j)) g di=200 o

437
B

17
425) x+y- vy +21- usex=12—, andy=1
) y=y y 27 y 24 1728

426) p+19+20+ (20 - (m-m)); usem=3§, and p=10% 30;

3 3 317
427) \(15 - + ; =14—,andy=11— 3——
) (15 - e )+ b ) wsox=14, any=112 3227
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y 11 14 1

22 n
428) x+yx+y— > usex=23, andy=6— 176—429) m? x — x —: usem:6§,andn:6— 132—
y 25 25 m 3 29

m

3 1 13
430) 22-9+q+13+20-p;use p=9—,andq=30—- 66—
) q Y Y 10 q 6 15

23 ¥y 1361
431) — +y—; usex:5i, and y:2Z 4i
X 12y 10 9 1836

1 419
432) 15x + (30—z+ x+z); use x = 14—, andz:9i 4—-
12 28 529

254
433) b?>+(a-(b-b)) +a; usea= 9> andb =20 5322000
12 29 1140396

2 4 19563
134) Pp+2 +23) usep=112 andq=13> 301203
13\" g 7 5 7 21658

9 201
435) p+(27+m-(m-m)+m); m=1, and 12-=
) p= (27 +m-( ) + m); use and p 6 46

m 1
436) 19+ p—-p+—; usem:4£, and p=1E 19—
am 17 19 4

11 13 942
437) (y-x+y)+(x-(x-x); usex=10-", and y= 12> 1=
) (y=x+y)+(x-(x-x)); use x 1 A4y = Yoo

438) 10j+(h—h+h)+j;useh=1i,andj=4i 37140
14 11 = 187

2 3 2486
439 ~1) < 6q 6= andq=5-— 22
) (p(p+p-1))=6q;usep Ly ada=5 2

4
240) X% - x(x-x) - y; usex:ZE,andyzli 238
24 14 4032

2q 17 5 8
441) qxA(p+p)usep=1=-, andg=13— 90-—
) q q(|o p); use p g 4713 90

4
442) x+ y+X + X +6; usex:21l, and y:29i 82ﬁ
6 26 29 1131

1 11 20
443 x\ly-y/+y+10-xusex=1—,and y=13— 8—
) yx(y-y)=y oy ady=18"2 82,

1 11 1154758136
A44 +y) s yxusex=11"—",andy=12"—> - —
) My+y)+y 28" MY 719 " 2011037353

445) (alc-b) - (b-b)) + b; usea= 10, b=61 andc=15— 12209
26 12 14 "~ 15106
1731
446) p—- 9+ m’ —(m— m); usem= 121, and p:9§ 973
2 4 2500
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447) y><£+x— 5; usex:8§, y:12z, andz:14i 16@
4 9 17

y z 956
448) (n+m) =+ (15— (n+m?)); usemzzl,andn:Yi 524
2 24 41
5 4 13
449) 4p+gq-g-lg-p);usep=4—,andq=12— 11—
) 4p+q-q-(q-p);usep oanda=12 11
3 15 _3
450) h=(j—-j—-lh=-h))+hjuseh=7—,and j =4— 7—
) h=-(j-j-(h-h) g A4I=4 T
q 1 5 13
451) g+ p- — +26q; use p=10=,and q=8-— 234
) 4+ Pyt g usep o' 97 %6 ey
452) 22 x (a+a)’ + (a+h); usea=4-2 andb=9-> 1472257
11 19 2995
453) mx m+ (4p +10 - 10); usem=7=2, and p:14§ 101
16 7 7103424

19 8657897

454) (m + n)3 + (n(27 - n)); usem= 11, andn=15 —
15 24 10755576

5 1 10939291
455) y° = (x+y+ +xuex=4— andy=6— 17—
) Y ( y y) 18 y 13 11696490

2
456) x—y+—y +7, usex:9i, and y=5i 12@
y 20 16 80

15 1 445
457 +0p)+g>usep=11—,andg=13= 1——
) (pg+ap)+q p=11_7,andq=137 1_-

1 5 41
458 3 +y: =2= andz=2— 51—
) (y+y)°+y+7 =y usey jrandz=2- 2 51

459) £ 4 26- (x+2)% usex = 15£, and z= 131_9 ZW
X 25 26 59150000

2201
460) 23+ 12 —n+m: usem=6-—, and n = 7— 2882201 9%9
20 27 <" 5832000

| N 17 484

461) 10° + j(k+6-j);usej=4—, andk=5=- 133—

9 23 771863

462) y—(\% +£); usex:41£3, and y:132—32 1122
X X

2 7 14116987
463) y*+ x> +x-3; usex=5—5, andy=6-— 4——— "L
27 10 69120000

464) (bla- (19)°) + & usea= 122—85, and b =21 194112
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465) (n+8)+(m—m+n) -m; usem:22—69, andn=1£ 2%

12 " 667
466) m-— m, pr; use m= 38, and p:5E 10&
p m 13 3211
167) xy-8+Y +3 usex=10+, and y = 14+ 14927
X 3 14 217
13 _ 5071
468) yx Y(x+22-21): usex =11, and y = 20> g2/
X 5 17 16762
183
469) (m+20—m—m)+(n+n); usem:7ﬂ, andn:15i —
5 15 452
17 20
470) (20x + x + 15x) + y; use x= 82, and y=4=— 64—
7 19 217
471) 16z +X| -y, uselei, y:91—3, andz:9i ZO@
x \y 10 22 26 ~ 60346
o . 7
472) h-(29h(j - j) + j); useh =10 and j = 72> 2 2
12 26 156
473) a+b- b+ (a+26) - a usea=16, andb =102 952
9 189
5 3 116
474) 8 x 20yx+ y* usex=11—, and y=9-—— 196~
) ey 12’ MY 279
27 6 7 65
475) — +p+q-(g-p);usep=4—,andq=10— 15—
)ppq(qp)p7q20 -
476) b- 2 —(b-b): usea=3—, andb=1-% 1.9
9%a 14 29 261
13 1 .67
477 =X+ ly—-(y— +y,usex=4—,andy=11— 12—
) (y=x)=(y=-(y-y) +y L ady=11° 12 o
2
478) L usem=15£, n:81, and p:15g 8M
om’p 19 3 3 12605541

479) x—X— (y—y)+x; usex:12i, and y:10E 11i
y 19 5 19

480) (q+ p—(q+ p))+p+22; usep:4§,andq:15g 22
5 12 1357

481 -(y—x)) =4y - x; =11— andy=15— ——
) (y=(y=x) + (4y - x); use x oy ady=152

9 6 3 26443
482) - 512+m)+p)-qusem=7—,p=4—,andg=12— 8——
) d ( ( ) p) d 14 P 29 a 4 41412
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483) (17-a)+(a+b+1+a); usea=1-F andb=10-— 1-°0
24 18 1030

2 454575375

2
484 X2 ;use x = 143, andy=7
y 26 15 828129068

Xy

485) - (h—(15-h) = j% useh=11-, and j =5~ 414083
26 14 917462

10 1 10
486) 16+ x— (y—y) +x% usex=2—,and y=10— 18—
) =) 23 y 10 = 23

17 17 49
487 + X - X—(X-Yy); =12—,and y=8-—
) x(x x) X (x y) use x 20 and y 18 =

488) b+(a-(20-a+a-a)): usea:11;—;, andb=10— 3=

23 9 5
489) 21 -m+ p-m-m)- p;usem=8—,and p=12— 12—
) p—(m-m)-p g A4 P=12-0 12

10 4 31
490 +p+n+11l-p+5usen=8—,and p=8— 33—
) p+p P 19 p 5 %

3 16 617
491) xly+({x+y)+x+x;usex=2—andy=9— 41—
) x(y+(x+y) ) g ady=9_ 41

1 11 124
492) 28+ (8- (y - ~X): -10=, and y= 12— 4-"
) (8-(y-y+y-x); usex g ady=12_ 4

493) h*-j +j(h+09); useh=4— and | -10% 1502%
11 2 242

494) 2+a+a-b(b-b); usea=71 andb=11-> 17°
8 29 4

r 1
495) 9q + 24{r — —|; useq:7i, andr = 143 2995—
3 25 13 325

3 21 135546
496 +(m? - 3); =13=,and p=3=—
) (plp+m) = (m? - 3): usem=137, and p=3 > _ 2"

11 1 _166
497 +p+mp+m+29%usem=9—,and p=5— 2——
) (p+ p+mp+m) 3 @dp=57 2-

498) x(20y - (z - x)z); use x = Zi, y= 71, andz= 141 ZO@
15 12 5 3375

14 1
499) — x (zy— x) Ty, usex= 152, y= 152, and z:6g 4ﬂ
X 11 3 9 10575

a 2 1 3055
500) cb—b?- —;usea=18,b=8—,andc=11-— 22— —
16 21 17 ~ 3528
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